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40|fCHEET 23.8 [k 16.7 |FAAEHET 126 |8R#AET 6.5 EFEH 750 | | |REHH 2.3 BR#mET  0.16 |  [40]
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44|/hBRT 230 [JIIER 158 |FE&@mit 122 [JIlE4 6.3 FPH 72.8 MHE@N 1.7 ZEHH 0.14 44
Ab|4EReE  22.6 |43kt 155 [R¥wm 121 |[KErd 6.2 SRR 727 | | KERT 1.6 fEam 011 45
46|Z ik 222 |R#nmr 163 |WiEA 121 |F#m 6.2 INSA - 70.0 W/ AEr 1.5 AEET 0. 11 46
474 FH 221 [K&EE 1653 |#AJIET  11.8 |FH@m 6.2 SAN  69.6 BRIHRET 1.4 BHRET 0. 11 47
48|80+ 4R 21.5 |/ P9FT 14.5 [#AEHET 11.8 |FHEMA 6.1 = [HAL4T 69.0 AR 1.4 mERN 0 11 48
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59|k At 19.2 |#\JIET 121 |ZA3Re 10.5 |[/hN¥AkeAT 5.6 WAt 65.0 W)IE 0.0 #JIET  0.00 59
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63|/MIAT 17.2 |XKge#t  11.0 |FaRahfr 9.8 | E#ET 5.3 RAAET  62.7 FAN 0.0 FAA 000 63
64| L ZEHH 16.9 [/NIF  10.8 |ikifiAir 9.5 [kAm 5.2 SHEET 62, 1 Xeert 0.0 FEEAT  0.00 64
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68| Fdm 145 [frMAET 8.0 |EA™H 79 |KBEH 4.8 MIAE 563 EEH 0.0 A4 0.00 68
69| FMA™ 145 [F#ARr 7.9 [|BREW 7.8 |/hAH 46 |=LRAT 547 REN 0.0 Emtt 000 69
70| E#AET 144 [F@E™ 7.9 [T 7.7 |BBPH 4.3 R 54.2 RRiER 0.0 AEA 000 70
71| 8pimEr  14.2 PR 7.8 |[8RHRET 7.6 [EEN 4.3 BHRM  54.0 wizs 0.0 pRfER  0.00 il
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